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kl/df0ffTds k4lt  ;Ldf 
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 kf7\oj|md ljsf; s]Gb| 

gd'gf k|Zgkq (Model Questions), 2082 

sIff M (          k"0ff{ª\s M &% 

ljifo M cy{zf:q -ljifo sf]8 !)#_       ;do M # 306f 

 

k/LIffyL{n] ;s];Dd k|Zgx¿sf] cfkm\g} zAbdf df}lns pQ/ lbg'kg]{5 . lsgf/fdf lbOPsf cª\sn] k"0f{fª\snfO{ 

hgfpF5 . (The candidates are required to answer the questions in their own words as far as 

practicable. The figures in the margin indicate full marks.)  

;a} k|Zgx¿sf] pQ/ lbg'xf];\ (Attempt all questions) 
;d"x ‘s’ [Group ‘A’] 

           clt ;ª\lIfKt pQ/fTds k|Zgx¿ (Very short answer questions)             11×1=11                       

1. s'g cy{zf:qLsf]] cy{zf:qsf] kl/efiff cfly{s dfgjsf] cjwf/0ff;Fu ;DalGwt 5 < 

(Which economist's definition on economics is related to the concept of economic man?) 

2. ;fj{hlgs ljQ eg]sf] s] xf] < 

(What is public finance?) 

3. cy{zf:qsf s'g} b'O{cf]6f Jofjxfl/s k|of]ux¿ pNn]v ug'{xf];\ .  

(State any two practical implications of economics.) 

4. tkfO{Fsf] b}lgs hLjgdf k|of]u x'g] k|lt:yfkg j:t'sf b'O{cf]6f pbfx/0f lbg'xf];\ . 

(Give any two examples of substitute goods that are used in your daily life.) 

5. cy{zf:qsf]] s'g lgodn] Pp6f ljj]szLn pkef]Stfn] Pp6f j:t'sf yk PsfO pkef]u ub}{ hfFbf kl5Nnf 

PsfOaf6 k|fKt pkof]lutf j|mdzM 36\b} hfG5 egL atfpF5 < 

(Which law of economics states that the additional utility a rational consumer derives from 

consuming successive units of good decreases?) 

6. olb s'g} b]zsf] ;g\ @)@% sf] /fli6«o cfo / s'n hg;ª\Vof j|mdzM ?= %) nfv / @) xhf/ hgf /x]5 eg] 

;"q k|of]u u/L pSt b]zsf] k|ltJolSt cfo u0fgf ug'{xf];\ . 

(If the national income and total population of a country in 2025 A.D. are  Rs. 50 Lakh and 20 

thousand respectively, then find percapita income of the country by using formula.)  

7. dfgj ljsf; ;"rsfª\s dfkgsf cfwf/x¿ s] s] x'g\ < 

(What are the bases of measuring the Human Development Index?) 

8. g]kfnsf] cy{tGqsf s'g} b'O{ ljz]iftf n]Vg'xf];\ .  

(Write any two features of Nepal's economy.) 

9. g]kfnsf] k|fs[lts ;'Gb/tfnfO{ ljrf/ ubf{ oxfF s'g cfly{s lj|mofsnfksf] ;a}eGbf a9L ;Defjgf /x]sf] 5, 

klxrfg ug'{xf];\ .  

(Identify which economic activity has the highest potential with reference to Nepal's natural 

beauty.) 

10. låtLo tYofª\ssf s'g} b'O{cf]6f ;|f]t n]Vg'xf];\ .  

(Write any two sources of secondary data.) 

11. s:tf tYofª\snfO{ sfnj|mdsf cfwf/df juL{s/0f ul/G5 <  

(What types of data are classified based on chronology?) 

            

पाठ्य
क्रम

 वि
का
स 
केन्द्
र



;d"x ‘v’ [Group ‘B’] 

;ª\lIfKt pQ/fTds k|Zgx¿ (Short answer questions) 8×5=40

12. cy{zf:qnfO{ lj1fg dfGGf'sf sf/0f j0f{g ug'{xf];\ . 

(Describe reasons behind considering economics as a science.)

cyjf (Or)

cy{zf:qsf k/Dk/fut ljifoj:t'x¿ j0f{g ug'{xf];\ . 

(Describe the traditional subject matters of economics.)

13. >dsf kfFrcf]6f ljz]iftfx¿ JofVof ug'{xf];\ . 

(Explain five features of labour.)

14. lbOPsf] tflnsfnfO{ ljrf/ ug'{xf];\ / tnsf k|Zgx¿sf] pQ/ lbg'xf];\ . 

(Consider the given table and answer the following questions.)           [2+2+1]

pkef]u ul/Psf j:t'sf PsfO  

[Units of commodity consumed 

(Q)] 

1 2 3 4 5 6 7 8 

s'n pkof]lutf [Total utility (TU)] … … … … … … … … 

;LdfGt pkof]lutf [Marginal utility 

(MU)]
  

i. ;LdfGt pkof]lutfaf6 s'n pkof]lutf lgsfn]/ lbOPsf] tflnsf k"/f ug'{xf];\ . (Complete the given 

table by calculating the total utility from the marginal utility.) 

ii. k"/f ul/Psf] tflnsfsf] cfwf/df s'n / ;LdfGt pkof]lutf jj|m/]vfx¿nfO{ Pp6} /]vflrqdf lvRg'xf];\ .

(Draw total and marginal utility curves based on the completed table in a single 

diagram.)

iii. lvlrPsf] /]vflrqdf pkef]Stfsf] k"0f{ ;Gt'li6sf] laGb' b]vfpg'xf];\ . (Show the point of satiety or 

saturation for a consumer in the constructed diagram.) 

15. g]kfn h:tf] ljsf;f]Gd'v d'nssf nflu >d k|wfg / k"FhL k|wfgdWo] s'g pTkfbg k|ljlw a9L pko'St x'G5 /

lsg, sf/0fx¿ lbg'xf];\ . 

(Which production technique, labor-intensive or capital-intensive, is more suitable for a 

developing country like Nepal, and why? Give reasons.)

16. cfly{s ljsf;nfO{ kl/eflift u/L o;sf rf/cf]6f ;"rsx¿sf] JofVof ug{'xf];\ .  

(Define economic development and explain its four indicators.)  [1+4] 
cyjf (Or) 

ul/aLnfO{ kl/eflift u/L o;sf rf/cf]6f sf/0fx?sf] JofVof ug{'xf];\ . 

(Define poverty and explain its four causes.)   [1+4]

17. g]kfnsf] u|fdL0f If]qsf kfFrcf]6f cfly{s lj|mofsnfkx¿sf] JofVof ug'{xf];\ .

(Explain five economic activities of rural sectors of Nepal.)

18. k|fylds / låtLo If]qsf cfly{s lj|mofsnfklarsf]] cGt/;DaGwnfO{ ;fGble{s pbfx/0f;lxt b]vfpg'xf];\ . 

(Show the interrelationship between economic activities of primary and secondary sectors with 

relevant examples.)

cyjf (Or) 
hn;|f]tn] g]kfnsf] cfly{s ljsf;df s;/L of]ubfg k'¥ofpg ;S5, TfYox¿sf cfwf/df k'li6 ug'{xf];\ . 

(How can water resources contribute to the economic development of Nepal? Justify with 

evidences.)

19. Pp6f cg';Gwfgstf{nfO{ k|fylds tYofª\s ;ª\sngk"j{ Wofg lbg'kg]{ kIfx¿ ;d]6]/ ;'emfjx¿ lbg'xf];\ .  
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(Provide suggestions to a researcher, including aspects to consider before collecting primary 

data.) 

 

;d"x ‘u’ [Group ‘C’] 

                    nfdf] pQ/fTds k|Zgx¿ (Long answer questions)                 3×8=24 

20. olb s'g} Pp6f j:t'sf] ahf/ dfu kmng / ahf/ k"lt{ kmng j|mdzM QdM =80–10P / QsM = – 40 + 
20P eP tnsf k|Zgx¿sf] pQ/ lbg'xf];\ . 

(If the market demand and market supply functions for a commodity are QdM = 80 – 10P and 

QsM = – 40 + 20P respectively, then answer the questions below.)                               [2+2+2+2]                                                                                             

a. dfu / k"lt{ kl/df0fx¿ kQf nufpg k|To]s d"No (P) nfO{ ahf/ dfu kmng / ahf/ k"lt{ kmngdf 

k|lt:yfkg u/L tflnsf k"/f ug'{xf];\  (Complete the following table by substituting each 

price (P) into the market demand and supply functions to find the corresponding 

quantities demanded and supplied)   

 d"No ?= k|lt s]=hL= df 

(Price in Rs. per kg)  

[P] 

ahf/ dfu s]=hL=df 

(Market demand in 

kg) 

[QdM] 

ahf/ k"lt{ s]=hL=df  

(Market supply in kg) 

[QsM] 

clws dfu jf clws k"lt{ 

s]=hL=df (Excess demand 

or excess supply in kg) 

6    

5    

4    

3    

2    

b. k"/f ul/Psf] tflnsfsf] cfFs8faf6 ahf/ dfu / k"lt{ jj|mx¿ Pp6} /]vflrqdf /rgf ug'{xf];\ .  

      (Draw the market demand and supply curves on the same diagram using the data from 

the completed table.)  

c. lbOPsf ahf/ dfu / k"lt{ kmngnfO{ lahul0ftLo ¿kdf ;dfwfg u/L ;Gt'lnt d"No / kl/df0f 

lgwf{/0f ug'{xf];\ . (Determine the market equilibrium price and quantity by solving the 

given market demand and supply functions algebraically.)                                                                                                   

d. k"/f ul/Psf] tflnsf, /rgf ul/Psf] /]vflrq / lahul0ftLo ljlwaf6 k|fKt ;Gt'lnt d"No / kl/df0f 

t'ngf ug'{xf];\ . oL ljlwx¿af6 k|fKt lgisif{ Pp6} eP gePsf] pNn]v ug'{xf];\ . (Compare the 

equilibrium price and quantity derived from the completed table, the constructed 

diagram and the algebraic method. State whether the resulting conclusions are 

consistent across these methods.)         

21. d'b|fsf rf/ lsl;d / rf/ sfo{x¿sf] j0f{g ug'{xf];\ .  
(Describe four types and four functions of money.)                                                        [4+4]                                                                                                                                                                                   

22. tn lbOPsf] sIff 9 sf ljBfyL{n] cy{zf:qsf] k/LIffdf k|fKt u/]sf] k|fKtfª\saf6 ldnfg lrx\g k|of]u u/L 

klxnf] juf{Gt/ 0-10 lnP/ af/Daf/tf ljt/0f tflnsf lgdf{0f ug'{xf];\ . lgdf{0f ul/Psf] pSt tflnsf slt 

u'0fLo xf] / lsg, sf/0f lbg'xf];\ . (Construct a frequency distribution table using tally marks from 

the following economics test scores of class 9 students with the first class interval 0-10. How 

many attributes does the constructed table represent, and why? Provide reasons.)                                                
[5+1+2] 
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k|fKtfª\s (Marks Obtained):  5, 10, 15, 25, 55, 5, 15, 10, 25, 50, 10, 5, 15, 55, 5, 10, 35, 25, 45, 

45, 10, 25, 5, 35, 30, 5, 55, 5, 25, 55. 

 

cyjf (Or) 
sLlt{k'/sf] Pp6f ljBfnodf sIff 9 sf ;]S;g A, B, C / D sf hDdf 32 hgf ljBfyL{lar pgLx¿nfO{ dg 

kg]{ ljifo kQf nufpg Ps cWoog ul/Psf] lyof] . tL ljBfyL{af6 ;ª\sng ul/Psf] cfFs8f lgDgfg';f/ lyof] 

. (A study was conducted among the 32 students of Class 9, from Sections A, B, C, and D, at a 

school in Kirtipur to investigate their favourite subjects. The data collected from those students 

was as follows): 

;]S;g 

(Section) 

dg kg]{ ljifo 

(Favorite Subject) 

;]S;g 

(Section) 

dg kg]{ ljifo 

(Favorite Subject) 

A cy{zf:q (Economics) C cy{zf:q (Economics) 

B lj1fg (Science) A g]kfnL (Nepali) 

A cª\u|]hL (English) A ul0ft (Mathematics) 

C ul0ft (Mathematics) B cy{zf:q (Economics) 

B cy{zf:q (Economics) C 
;fdflhs cWoog (Social 

Studies) 

C g]kfnL (Nepali) B ul0ft (Mathematics) 

A lj1fg (Science) A cª\u|]hL (English) 

B cª\u|]hL (English) C cy{zf:q (Economics) 

C ;fdflhs cWoog (Social Studies) B ul0ft (Mathematics) 

B cy{zf:q (Economics) C cy{zf:q (Economics) 

A cª\u|]hL (English) A 
;fdflhs cWoog (Social 

Studies) 

C cy{zf:q (Economics) B cy{zf:q (Economics) 

B ul0ft (Mathematics) C lj1fg (Science) 

C cª\u|]hL (English) B g]kfnL (Nepali) 

B ;fdflhs cWoog (Social Studies) C lj1fg (Science) 

B cy{zf:q (Economics) C g]kfnL (Nepali) 

lbOPsf] cfFs8faf6 ;]S;gnfO{ kª\lSt / dg kg]{ ljifonfO{ dxnsf ¿kdf PsLs[t u/L låu'0fLo af/Daf/tf 

tflnsf lgdf{0f ug'{xf];\ h;df k|To]s ;]S;gsf s"n ljBfyL{, k|To]s dg kg]{  ljifosf s'n ljBfyL{ / ;du| s'n 

ljBfyL{ ;ª\Vof klg ;dfj]z ug'{xf];\ . (Construct a two-way frequency table summarizing the given 

data with section as rows and favorite subject as columns, including the total students for each 

section, for each favorite subject, and the overall total number of students.)        [8]                                                            
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